

# FORM-6

## APPLICATION PRINT (Note: This application not submitted as final) Report Print Date: 03-03-2022 14:14



Final Submit

Point3 Filled on Dated: Mar 3 2022 2:07PM	Point4 Filled on Dated: Mar 3 2022 2:07PM	Point5 Filled on Dated: Mar 2 2022 1:42PM	Point6 Filled on Dated: Mar 3 2022 2:07PM	Point7 Filled on Dated: Mar 3 2022 2:07PM	Point8 Filled on Dated: Feb 12 2022 11:44AM	Point9 Filled on Dated: Feb 27 2022 11:11AM	Point10(Session: 2020-21) Filled on Dated: Feb 27 2022 11:09AM	Point10(Session: 2021-22) Filled on Dated: Feb 27 2022 11:11AM	Point12 Filled on Dated: Feb 27 2022 12:24PM	Point13 Filled on Dated: Feb 27 2022 12:42PM
---	---	---	---	---	---	---	--	--	--	--

**POINT-1 TO POINT-3 SCHOOL DETAILS**

School Code:	20982
School UDISE:	06190102303
School Type:	High
School Name:	ST. ANTHONY SECONDARY SCHOOL, SEC-9
School Address:	ST. ANTHONYS SEC. SCHOOL
School PinCode:	121006
School District:	Faridabad
Recognition Number:	NA

**POINT-5 & POINT-7 (ATTACHMENTS)**

Annexure A (Admission Policy):	
Annexure D :	

**POINT-4 [AFFILIATION AND ACCREDIATIONS ENJOYED BY THE SCHOOL AT VARIOUS STUDY LEVEL]**

SCHOOL LEVEL:	UPTO HIGH/SECONDARY LEVEL
AFFILIATION AND ACCREDIATIONS:	CBSE

**POINT-6 [INDICATIVE AVERAGE NUMBER OF CHILDREN PER CLASS/SECTION]**

GRADE	CURRENT YEAR (2021-22)			NEXT YEAR (2022-23)		
	NUMBER OF SECTIONS	TOTAL NUMBER OF STUDENTS	AVERAGE STUDENTS PER SECTION	NUMBER OF SECTIONS	TOTAL NUMBER OF STUDENTS	AVERAGE STUDENTS PER SECTION
Pre Kindergarten	4	155	39	4	155	39
Kindergarten	4	149	37	4	149	37
Grade 1	4	156	39	4	156	39
Grade 2	4	176	44	4	176	44
Grade 3	4	177	44	4	177	44
Grade 4	4	175	44	4	175	44
Grade 5	4	176	44	4	176	44
Grade 6	4	164	41	4	164	41
Grade 7	4	167	42	4	167	42
Grade 8	4	170	42	4	170	42
Grade 9	4	161	40	4	161	40
Grade 10	4	168	42	4	168	42
Grade 11	0	0	0	0	0	0
Grade 12	0	0	0	0	0	0
	<b>Total Student Strength of School</b>	1994			1994	

**POINT-8 [1 TO 5] [DETAILS OF MINIMUM FACILITIES BEING PROVIDED (IN CASE OF EXISTING SCHOOL, DATA FOR TWO CONSECUTIVE YEARS SHALL BE GIVEN)]**

S#	DETAILS	CURRENT YEAR	NEXT YEAR
1	Total Area of Land (in Sq meters)	33305.62	33305.62
2	Total Built Up Area (in Sq meters)	3096.18	3096.18
3	Student Capacity: Built Up Area Ration	1.55	1.55
4	Capacity of Hostels (if any)	0	0
5	Built up area that is air-conditioned (if any)	0.00	0.00

**POINT-8 [06 (A TO B)] [AVAILABILITY OF DEDICATED SPACES (IN NUMBERS)]**

S#	DETAILS	CURRENT YEAR	NEXT YEAR
6 (a)	Library (if yes, then no.)	1	1
6 (b)	Medical Facility	Yes	Yes

**POINT-8 [06 (C)] [SPORTS INFRASTRUCTURE (IF ANY)]**

S#	Sports Infrastructure Name	CURRENT YEAR (2021-22)	NEXT YEAR (2022-23)
----	----------------------------	------------------------	---------------------

**POINT-8 [06 (D)] [CO-CURRICULAR INFRASTRUCTURE (IN NUMBERS)]**

S#	DETAILS	CURRENT YEAR	NEXT YEAR
6 (d-1)	Music Room (if yes, then no.)	1	1
6 (d-2)	Dance Room (if yes, then no.)	1	1

6 (d-3)	Art and Craft Room (if yes, then no.)	1	1
---------	---------------------------------------	---	---

POINT-8 [06 (D-4 to D-5)] [CO-CURRICULAR INFRASTRUCTURE ADDITIONAL ROOMS (IF ANY)]

S#	Additional Room Name	CURRENT YEAR (2021-22)	NEXT YEAR (2022-23)
----	----------------------	------------------------	---------------------

POINT-8 [6 (E TO H)] [LAB (IN NUMBERS)]

S#	DETAILS	CURRENT YEAR	NEXT YEAR
6 (e)	Computer Lab (if yes, then no. of lab)	1	1
6 (f)	Physics Lab (if yes, then no. of lab)	1	1
6 (g)	Chemistry Lab (if yes, then no. of lab)	1	1
6 (h)	Biology Lab (if yes, then no. of lab)	1	1

POINT-8 [06 (I to J)] [ADDITIONAL LABS (IF ANY)]

S#	Additional Lab Name	CURRENT YEAR (2021-22)	NEXT YEAR (2022-23)
----	---------------------	------------------------	---------------------

POINT-8 [6 (K TO L)] [AVAILABILITY OF OTHER DEDICATED SPACES (IN NUMBERS)]

SERIAL NUMBER	DETAILS	CURRENT YEAR (2021-22)	NEXT YEAR (2022-23)
6 (m)	Multipurpose Hall (if yes, then no.)	1	1
6 (n)	Auditorium (if yes, then no.)	1	1

POINT-8 [7 TO 13] [(IN NUMBERS)]

S#	DETAILS	CURRENT YEAR	NEXT YEAR
7	Number of library books	12944	13044
8	Availability of drinking water facilities	Yes	Yes
9	Availability of separate toilet facilities		
9 (a)	For Staff (No. of toilets)	7	7
9 (b)	For Boys (No. of toilets)	32	32
9 (c)	For Girls (No. of toilets)	50	50
10	Career Counselling	No	No
11	Behavioural Counselling	Yes	Yes
12	Special Learning Needs	Yes	Yes
13	English Support Program	Yes	Yes

POINT-9 [STAFF DETAILS (NOTE:- INCLUDING CONTRACTURAL SERVICES)]

[CURRENT YEAR ACADEMIC STAFF (IN NUMBERS)] Student Teacher Ratio: 34 : 1				
PRT	PGT	TGT	OTHER	TOTAL
27	0	31	0	58
[NEXT YEAR ACADEMIC STAFF (IN NUMBERS)] Student Teacher Ratio: 29 : 1				
PRT	PGT	TGT	OTHER	TOTAL
34	0	33	2	69



SELF DECLARATION STATEMENT